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Day 3 — More related rates

Objective: Use basic math formulas and derivatives to solve problems
1. Awater tank has the shape of an mvertec{circular cone with base radius 2m; land height 4m/ If water is being pumped into

the tank at grate of 2 m3/min, find the raté at Wthh the water level i o when the water i$3 m deep}
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2. Aman {6ft tallman is walking at the} rate ‘of3 ft/s toward a streethgnt 8 ft high. / At what fatels th s M ofthe adow
‘movmg? At what rate is the Shadow' length changmg“?
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aper cupﬂfo crr* tall with a radius of 10 cm. The cup is being filled wnt‘h’TNater atarate of Zn%' _rI P
e water level rising when the water level is 2 cm? ‘

v

w
>
[m]
o
3
(o]
o

cm3/sec. How fast is
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4. A )‘plane is at arl altitude of 5 miles and passes directly over d'radar antenna When the plane is 10 miles % #E
,the radar detectﬁi.he distance s is changing at a rate of 240 mph JWhat is the speed of the alrplane‘?f
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A camera mounted at a point 3000 ft from the base of a rocket launching pad. If the rocket is rising vertically at
80 ft/s when it is 4000 ft above the launching pad, how fast must the camera elevation angle change at that
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